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2.
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10.

11.

Instructions
Answer all questions.
All questions carry equal marks.
In this booklet, the questions from
serial no. 1 to serial no. 10 are related
to general aptitude while questions
from serial no. 11 to serial no. 70 are

~ subject specific.

Each question has four alternatives
marked as (a), (b}, (¢}, (d).

Choose only one alternative as an
answer of a guestion.

- If more than one answer is marked,

then it will be treated as wrong
answer. '
Candidate has to darken only one circle
indicating the correct answer on the
answer sheet by using BLUE BALL
POINT PEN.

There is no provision of Negative

marking. :
Carrying Mobile phone in the
examination hall is strictly prohibited.

" If any objectionable material is also

found then action will be taken as per
University norms,

Please fill your Roll No. and other
information carefully on OMR sheet.
In case of any mistake on OMR sheet,
candidate will be responsible.

If there is any difference between
English and Hindi version of questions,
then English version shall be correct.
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Fill in the blank in the given

sentence so as to make sense. Select

the correct word from the answer

choices :

She helped everyone of those boys

(b) their
(e) ones

(d) none of the above

A word has been written in four

different ways. Out of which only

one is correctly spelt. Find the

correctly spelt word :
(a) Mustach

(b) Moﬁstach

() Mustache .

(d) Moﬁstgche

Out of the four alternatives, choose
- the one which best expresses the

meaning of the given word.
GRATIFY :

(a) Frank

(b) Appreciate

(©) Pacify

(d) Indulge
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Who is the king of wealth ?
{a) Vayu .
(b) Kubera

(¢) Indra.

(d) Agni

Michael Ferraria is associated with

which games/sports ?

(a) Billiards

(b) Karate

() Hockey

(@) Tennis

Jesus Christ was crucified in :
(@) 4 BC

(b) 4 AD

() 20 AD

(d 1 AD

A man spends 25% of his money on
food. After spending 50% of the
remaining, he is left with Rs. 375.
How much money was with that
man initially ? '

(a) Rs. 5,000

(b) Rs. 4,000

(c) Rs. 5,800

(d) Rs. 1,000
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10.

5006 — 5000 + 10 = ?
(a) 4500
(b) 4550
(c) 4505
(d 4050

Complete the series from the given

alternatives :
5,9, 17, 29, 45, ...... arreneans
(a) 60

(b) 65

(c) 68

d 70

Four words are given, out of which

three are alike in some manner and

the fourth one is diﬁ'erent.. Choose

out the odd one.
(a) Cotton

(b) Jute

() Silk

{d) - Nylon -

32— Eco.
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(31) 4500
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11. Ifademand curve shifts to the right, |

it indicates :

(a) increase in quantity demanded
"(b) increase in demand

(c) decrease in demand

(d) decrease in qut;mtity demanded

12. In the case of perfect substitute
goods, marginal rate of substitution

(MRSxy) is :
(a) decreasing
(b) coﬁstant
(c). increasing
(d) zero A

13. ‘Income Consumpt_ion Curve’ (ICC)

o in ‘Consumer Theory’ is similaf to
| which of the following in ‘Production
Theory’ ?

(a) expansion path
(b) iso-cost line

(c) price-consumption curve

(d) isoquant
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| 14. The second stage of production starts

15.

16.

) 32_—Eco.

where :
(a) APy, begins to fall
(b) MPy, is maximum

(c) MP; is zero

(d) MPy, begins to fall

The point where total product (TP)

curve changes its shape from convex

to concave is called :
(a) point of bliss
(b) point of inflection

(¢) equilibrium point

l(d) point of falling TP

If MRTS; i is equal to 3, then’ ﬂf’K

L

18 equal to :

(a 3

(b)

(c)

(d)

Wi
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17.

18.

20.

If an isoquant is L-shaped then two
factors are :

(a) perfect complementary
(b) perfect substitutes |
(¢) imperfect complem'entary'
(d) imperfect substitutes

In Cobb-Douglas production
function Q = AL®KP, there will be

increasing returns to scale if :
@) a+p>0
b)) a+pf>1
© o + B<il

(d) (X+ﬂ=1

19.
. U-shaped ?

(@) AVC curve

Which of the following curves is not

(b) AC curve

‘ (¢) MC curve

(d) _AF C curve

Which of the following equations

represents break-even point ?

(a) TR » TC
by TR = TC

“(© MR = MC

(d) TR < TC

32-Eco.
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21,

22.

23.

24,

The main objective of monopolist :

is :

(a) to get high prices

(b) to earn maximum profit
(c) to sell complete product
(d) none of the above ..

competition is :
(a) many produéers

(b) product differentiation

(¢) many producers and produet

differentiation -

- {d} mnone-of the above-

Demand for factorsof production
IS :

(a) effective demapd

{b) direct de;nan__d

{c) preference demand

_ (d), derlved demand

MRP of any factor of productmn in
monopoly is equal to :

(a) MPP x AR
(b) MPP x Price

() ‘'MPP x MR~

(d ARP x MR

32-Eco.
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25, Loanable fund theory of interest, is ; 25 . SIS, TR SF Wiy fasm afiq
associated Wlth o g

(a) Keynes o (FHFLE
(b) chksell o | 1 (@ e g o
(c) Hanson N | | | (&Y &
@ Hicks | 1 (@) fem

26. Qua51-rent is equal to: | | 26. NUF HIH W %‘ -
(@) P - AVC ] @p- AVC -
® P - AFC ()P - AFC
© P-ac . (@MP-AC |
@ P-Mc () P - MG

27. Microeconomics and macroeconomics | 27. =aft st sk wfie it wr
terms were coined by ;: "~ < S A 2210 a5 - B
(a) Ragnar Frisch: - P C(FITR fsmn q
(®) P.A. Samuelson - - - () fu. Agsrew ¥
(&0 J.M. Keynes'. = .. - (9) 9.1m. aﬁi‘?e{ |
(@ JR Hicks -~ . ... () %am. e 3

28. Difference between GNP and GDP | 25 NEX mz'h: T ai‘r( FEBF{ aiqwa
represents : S O # e m EBTEH ¥

(a) net indirect taxes - (31)1%[213 34'9‘65[&1 T
(b) depreciation = i o (9) geagrd b e
(¢) net factor-income frem abroad (|) fo=w 9 = %r'{mmaﬁ' 39

(d) none of the above . ' (%) 3‘4?3:33 b @aﬂ?ﬂ@ .
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30.

31.

. (a) monetary varlables Ilke prlce

e

G

32-Eco.

. Cash balance approach of quantity |

()
(d)

Accordlng to classmal macro-

- {h)

theory of money is rgssp:cjrated ;
with ; - ' '

(a) M;lrshall

(b) Pigou

(¢) Keynes

(d) All of the above

Phillips curve shows the relatienship 30

between

(a) unemployment and income [’

7 level

b

unemployment and expendlture
- level . '

rate of unemployment and rate
of inflation -

money supply affects

level
raal variables like level of
employment .:md output

both monetary and real

varia bles

neither monetary varlables

nor real variables

unemployment and price level .
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32. According to -classical. macro !( 32. wiaften wufie-anffe fagim = HIER

economic theory saving -and

investment are fun(,ftions of ;

(a)
(b)
{c)

()

33. Say’s law of market states that

(a)
(b)

(c)

{d) st

34. Accordmg to Keynes:an consump-

tmn functlon as mcome mcreases :

(a)

(b)

(¢

@t

32—Eco.

. dechnes

, con_sta_n_t

income
rate of interest
prices

all of the above

supply is not equal to demand
supply creates its own demand
demand creates its own supply

supply 18 éreétef than deiﬁand
APC dechnes but MPC I:ises

APC .increases hat MPC

APC declines but MPC remains

constant,

12
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35.-

- 36.

37.

The coricept of aecelerator &épénds;
upon :
(a) MPC

(b) Capital-outpuf' ratio
(c) MPS
(d) APC

If the cash reserve ratio is. 100
percent, then mult1ple expansxon of

bank deposﬂzs would be :
(a) 200 percent |
(b) zero

(c) 500 percent

’_ (d) 50 percent..

Which one among tﬁe following

« formulates fiseal policy in India ?

(a) Planning Commission

~(b) Ministry of Finance

{¢) Finance Commission

(d) Reserve Bank of India

32-Eco.
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38. .Which of the following weuld not be

39.

40).

considered as near money ?

(a) time deposits B

(b) demand deposits

(¢) loans and advinces -

(d) government bq;;ds P
Suppl}r of money isﬁ: |

('a)l .‘a .sto:(t:‘i% Vaﬁ;ble |

® a flow variable

(¢) both stock and -ﬂ'ovf variables

{(d) neither a stock variable nor s

flow variable

In order to control inflation, the

Central Bank should :

- {a} -sell. government securities.and

lower the bank rate

(b)

sell government secumtles and

raise the bank rate -

(¢) purchase goverriment securities
and raise ther _pank rate _
(d} purehase government securities
and lower the bank rate
32-Eco.
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41.

42,

43.

Who amdng thé ' followmg benefits

most from inflation ? ..~

(a) credltors |

(b) pensmners .

(c) bank accounthblci;fsi o

(d) debtors - -

The cash reserve ratm s usually

determmed by

" (a) “market forces -

44,

(b) commercial banks .

(c) government ”
(d-)r-.rn;n‘l?ei:‘ary éﬁ;thod%y o
Banks create crédit

(a) out of nothigg

(b) on the basis of Vsecur"ities
(¢) on the basis ﬁf total .as'se.ts

(d) on the basis of cash deposits

32—Eco.

Interest rate policy is a component
_O.f:.,'_ Easeh Ol i 1
(a) Fiscal policy )

(b) M{jﬁétary pokicy .0

(¢) Trade po}lic;ﬁ_r_:'_‘:

(d) Income policy *
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45. 'The issiie of one rupee cirréncy note | 45, sira § wh v = W2 T @ =
in India is the liabilit of the : '
Y oo ¥ .

{a) Reserve Bank of Indla
(b) G‘rovernment of Indla :

(¥) 9RG WWEHR FHT
(¢) State Bank o:f:I‘nndu__i T

@ Concerned State Government | - (%) R0 2 & &1

46. Apex institution for financing small | ) dehE T WER T —_

scale industries in India is :

46. W@ H =g sErT fﬁ e

(a) Industrial Development Bank
of India -~ - ,
(31) wrera ol fawm S

(b) Industrial Finance Corporation

Gt ﬁ'ﬂﬁw

(¢) Small Industrxa] Development , _ :
| (®) s g dEfiE faem @
Bank of Indla . :

@ NABARD | (%) T

—

47. Who is the Chaxrman of 13th | 47. O%ed ﬁ?f:ﬂl’fiﬂ $W&7ﬁ?% ?
Flnance Commlsswn ‘7 7 .
(a) K.C. Paqj; N

(a) . Grem
(b) C.. Rangarajan.

(c) -Kaushik Basu- - ... : »;(H) Tﬂi

(d) Vijay Kelkar -~ = () fowE ey
32-FEco. 7 16



- 48.

49,

50.

(b)

“What is the contribution of service

sector in the GDP of India ?
(a) belﬁw 25 percent -

(b) 25 to 50 percent

() 50 fo 60 percent

(d) above 60 percent

The National Food Securities

Missidn, launched 1n 2007, is a :
(a) food import sciieme

crop dévelopment sc;heme
(¢) mid-day meal scheme
scheme for poor faﬁlilies

(d)

Rashtriya Krishi Vikas Yojana

“(RKVY) wasllaunched in 2007-08 for

incentivizing states to :
(a) increase productivity of crops

(b}

-enhance public investment in

agriculture

(c) develop irrigation facilities in

agriculture

provide institutional credit to

(d)

farmers

.32-_Ecd.
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51.

D2.

53.

b4.

32-Eco.

(b

What is disinvestment ?
(a)
(b)
(c)
(d)

process of nationalization
more investment
less investment

selling out public sector
industry to private sector

Golden revolution is concerned with

the production of :
(a) vegetables and fruits
milk

(¢) fish

(d) foodgrains -

Among the foodgrain crops which

one of the following provides
maximum output in India ?

(a) Wheat

() Rice

() Pulses

(d) Ce_arse cereals

Hindu rate of growth concept was
given by :

(a) D.R. Gadgil
(b) Rajkrishna

(c) PIanning Commission of India

(d) World Bank
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55.

56.

57.

58.

39-Eco,

(d) 2200 calories

For dealing with qualitative data the
best average is :

(d) coefficient of variation .

- the correct relation among mean,

- (a) Mean = Median = Mode

The measurement of poverty line in
rural areas of India is :

{a) 2100 calories
(b) 2300 calories
(c) 2400 calories

(a) arithmetic mean
b
(c)
(d)

Which one of the following measures |

geometric mean
median

mode

of dispersion is considered best ?
(a) standard deviation
(b} range

(¢} variance

For a negatively skewed dist:ribﬁtion,

median and mode is :

(b) Médian < Mean < Mode
(¢) Mean < Median < Mode

(d) Mean > Median > Mode
19
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59.

60.

61.

The sum of squares of the deviations

is minimum when deviations are

taken from ;:
(a) mean
(b) median

(¢c) mode

(d) zero

Which of the followmg statéments

is true ?

(a) Coefficient of correlation is the ?

geometric mean-

coefficients of regression
(b)
 coefficients cannot exceed 1

Correlation coefficient is the

{(c)

sqilare root of product of both |

regression coefficients

{d) All of the above

The component of time series which
attached to .

fluctuations is :

18

- (a) seasonal variation

(b) cyeclical variation

(c)

irregular variation

. {(d) all of the above
32-Eco.
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Values of both regression .7

short-term -
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62.

63.

Median is ﬁot equal to :
(a) second quartile

(b) fifth decile

(c) fiftieth percentjle
(d) third octile |

If two regression lines are
perpendicular té each other, the
correlation between two variables
18 : |

@) <

B 41

64.

@ -1

d o

8 7

If A= ,» then the value of

5 5

determinant is -

{a) 75

(b) 40
() 5

(d) 35

32——E_co.
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"62. WW%%

(m)ﬁéﬁaagvima%.;-
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65.

66.

67.

32—-Eco.

(e)

If the roots of quadratic eqﬁation
are —2 and +1, then the quadratic

equation will be :

@ X-2X+D=0

b X+2)X+1)=0

© X+ X-1=0

@ X-2X-1=0
| 1

' 1
~The series -, 7,1, -1, ——, ..........

5’3’
is :

- (a) Arithmetic Progression

(b) Geometric Progression
(¢) Harmonic Progression -

(d) None of the above

The slope of a straight line equation

2X - 3Y +1=0is
(a)

(b)

Colibo dojca 9 ot

(d)

22

65.

66.

67.

RAE-22X-1D=0

gie fdt fgona weitentor & @1 -2 94
+1 ¥ 9 fgu e @

(M- +1) =0

.(a)(X+2)(X+1)=O

X+ X~-1=0

T 1 1
Sy 5 5, 1, -1, ‘—g, .......... ¥
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e T 92X - 3 + 1= 0
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88 TP =10 - 2X, then MR will be : | gg, TP =10 -2X R, & MR & .

(@) 10 - 4x - ' | (37) 10 - 4%
(b) 10X - ox2 S | (%) 10X - 2x2
10 . |
© 2 -2 @ 2 -2
@ -2 (@ -2
o dy o dy
69. If y- /X, thena-x—wﬂl_be: 69. IR y- X ﬁ,?ﬁgx— i
(@) o/x | | (1) o /%X
1
® x o CF-
1 . 1
© 3% o ™ 3K
1 , | 1
(d) N - . " (Q) e

.70. Which of the following is not equal | 70. fm § 3 W g F TR &

to others ? o | ? 7?

@ loggs (3 log, 5

® logyy10 - @) logy, 0
(c) logg 3 | : _ ) (%) 16g3 3

d) log;,7 - | () logyy 7

32-Fco. - 23
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